ANGLES IN PARALLEL LINES

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier
1.

3 BEG s a mangle

ABC amd DEF are parallel lines.

Work ot the size of angle x.
Ciive a reason for each stage of your working.

{ Total for Cruestion 3 ks 4 marks)
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2.

ABCD iz a parallelogram.
EDN is a straight Line.
Fia the point on AD so that BFE is a straight line.

Angle EFD = 35
Angle DCR = 759

Show that angle ABF = T0®
Giive a reason for each stzge of your working.

{ Total for Cuestion 3 s 4 marks)

Pearson Edexcel - Sample Paper 1 - (Non-Calculator) Higher Tier
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AE, DBG and CF are parallel.
DA=DB=DC.
Angle EAB = angle BCF = 38°

Work out the size of the angle marked x.

You mmst show your working.

. &
© F
(Total for Question 3 is 3 marks)
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Diagram NOT
accurately drawn

ABC and DF are parallal lines.
AEG and BEF are straight lines.

Angle AED = 54°
Angle FEG=T0°

Wtk out the size of the angls marked x.
Give 3 reason for each stage of vour working.

{Total for Question 9 is 4 marks)
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A D Diagram NOT
accurately dravwn

ABCD and EFG are parallel lines.

BC=CF

Angle BFE = T0"

Work out the size of the angle marked x.
Give reasons for each stage of your working.

(Total for Question 6 is 4 marks)
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B . Driagram NOT
C accurately dramm
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F o 3
ABRC, DEF and PORS are parallel lines.
BEQ is a siraight line.

Angle 4BE = 807
Angle QER = B0F

Work out the size of the angls marked x.
Give reasans for each stage of your woring.

{Total for Question 12 is 4 marks)
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65°
Diagram NOT
accurately drawn
| X
e
E F I & H

ABC 15 parallel to EFGH.

GEB=GF
Angle ABF = 657

Work out the size of the angle marked x.
G1ve reasons for your answer.

(Total for Question 8 is 4 marks)
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Diagram NOT
accurately drawm

PRS and TWT are parallel straight lines.
QRWZ is a straight lime.

Work out the value of x.
Give reasons for your answer.

{Total for Queston 7 is 3 marks)
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Diagram NOT
accurately drawn

o

ABC, POR and AQD are straight lines.
ABC ia parallel to POR.

Angle BAQ = 35°
Angle BQA = 907

Work out the size of the angle marked x.
Give reasons for each stage of your working.

{Total for Question 9 is 4 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier

10.



W

1g®

Diragram NOT
aceurately drawn

¢ D !

CDEF is a straight line.
AH is parallel w CF.
DE = JE.

Work out the size of the angle marked x.
Wou must give reasons for your answer.

LS

{ Total for CQuestion 10 i 4 marks)
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6 Driagram NOT

accurately drawn

ABCLY is a parallelogram.

Angle ADE = 382
Angle BEC = 41",
Angle D4R = 120P.

Calculate the size of angle x.
You must give reasons for your answer.

(Tatal for Question 6 is 4 marks}
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Diagram NOT
accurately drawn

Ir+ 24

S
>

The diagram shows a parallelogram.
The sizes of the angles, in degrees, are

2x
Ix- 15
2x
2+ 24

Work ouwt the value of x.

e T

(Total for Questhon 11 is 3 marks)
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Diagram NOT
accurately drawn

EN 479

ABC and DEF are parallel lines.
BECG is a straight line.
Angle GEF = 47°,

Work out the size of the angle marked x.
Grive reasons for your answer.

(Total for Question 1 is 3 marks)

Pearson Edexcel - Friday 2 March 2012 - Paper 3 (Non-Calculator) Higher Tier
14.



4. Diagram NOT
accurately drawn

(a) Find the value of x.

(b) Find the value of y.
(iive reasons for your answer.

e

(Total 3 marks)

Pearson Edexcel - Monday 6 June 2011 - Paper 3 (Non-Calculator) Higher Tier
15.



Diagram NOT
accurately drawn

ARE is parallel to D

PORSY is a straight line.

Angle SRE = 35°,

(i) Find the size of the angle marked x.

(i) Give a reason for your answer.,

{Total 2 marks)
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16.

5 L
Diagram NOT
accurately drawn
.‘.
A m - B
P
C M - 0D

ANE is parallel lo CAD.
LA is a straighl line.
Angle L4 = 68"

(i) Work out the size of the angle marked ¥

(i) Give reasors for your answer.

(Total 3 marks)
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Diagram NOT
accurately drawn

— :

(1) Wrte dewn the size of the angle marked a.

{11} Grre a reason for your answer.

(Total 2 marks)
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18.

9 The diagram shows triangle ABC.
CD is parallel to AB.
A, C and E lie in a straight line.
Angles of size 8°, b* and ¢" are shown.

B D

Mot to scale

(a) Insert &8°, b° or ¢ to make this statement true.
Give a reason for your answer.

Angle DCE=.._...... [0, T = R e PR T A s b N R [ o TR P b e S W

{b) Use the diagram and the answer to part (a) to show that the angles of a triangle
add up to 180°.
Give a reason for each statement you make.
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19.

10 AB, CD and EF are straight lines.

Mot drawn
accurately
10 (a) Ava assumes that AB and CD are parallel.
What answer should she get for the size of angle +?
[4 marks]

Answer degrees




10 (b) In fact,
AB and CD are not parallel
angle w is 60°

What effect does this have on the size of angle y?
Tick a box.

Vis bigger

Vv is the same

v is smaller

Show working to support your answer.

[3 marks]
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20.
16 AB, CD and YZ are straight lines.
All angles are in degrees.
Mot drawn
v accurately
, ¢ +o582x + 35 5
5x -85
c D
z

Show that AB is parallel to CD.

[4 marks]
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10 ABC is a triangle with AB = AC

BA is parallel to CD.

Mot drawn
A accurately

Show that angle x = 30°

[3 marks]







